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1. Space exploration is the use of space travel .................. discover the universe beyond the Earth.
1) while 2) so that 3)so asto 4) because
2. He wore glasses and a false beard .................. .
1) so as not to be recognized by the police 2) so that the police could recognize him
3) to be recognized by the police 4) because he thought it would help the police
3. Mary pays more attention to her diet, .................. her sister doesn’t.
1) when 2) whereas 3) since 4) furthermore
4. Some people obey the traffic rules, ......ccccccc..... others just ignore them.
1) so 2) whether 3) whereas 4) thus
5. Child labor is not a concern in Australia ...........c.c.... it is constantly worrying Asians.
1) since 2) because 3) when 4) whereas
6. I was shocked by the extreme .................. that existed in our country.
1) poverty 2) quality 3) practice 4) purpose
7. Please, complete the .................. parts of this application form and give it to the information desk.
1) appropriate 2) repetitive 3) efficient 4) straight
8. We should avoid expressing .................. information while giving a speech.
1) domestic 2) irrelevant 3) specific 4) valuable
9.1 am going to phone you next week .......cccceeeeeee on Wednesday.
1) probably 2) awfully 3) wonderfully 4) effectively
10. The early .....cccecveueeee of space exploration was driven by a “space race” between the Soviet Union
and the United States.
1) observation 2) unit 3) phase 4) era

In some countries, the problems for women are the opposite of those in Ghana. In the Middle East, for
example, women have traditionally stayed at home. They were .......... [ ) — for maintaining the
home and did not work. .......... ) , when women went out in public, they ......... (3):sssimsss their
faces and walked behind their husbands. Today the ......... () F— of life is changing. Many women
want to take a/an .......... &) R— role in the economy. However, working reduces their chances of

getting married because many men still want to marry in their traditional way.

11.1

1) conscious 2) reasonable 3) repetitive 4) responsible
12.2

1) In fact 2) In order 3) In spite of 4) So that
13.3

1) covered 2) controlled 3) continued 4) compared
14. 4

1) power 2) reason 3) concern 4) pattern
15.5

1) safe 2) active 3) brief 4) single
16. The text says that ........c...cc... .

1) the twentieth century has had no change in temperature

2) the Earth's inner temperature has decreased in the past century
3) the last two decades have been warmer than before

4) in the present century the Earth is not getting warmer




17. Human activities .........cceeeee. :

1) have kept the chemical composition of the atmosphere fixed

2) have changed the shape of the atmosphere

3) have been the cause of increase in greenhouse gases

4) might be very useful for the atmosphere

18. Which of the following sentences in NOT true?

1) Human activities disturb the balance of the gases in the atmosphere.
2) Greenhouse gases are dangerous for the planet.

3) Greenhouse gases trap heat in the atmosphere.

4) There is no evidence about global warming.

19. Which one is NOT among the damaging gases mentioned in the text?

1) carbon dioxide 2) methane 3) carbon monooxide  4) nitrous oxide
20. The underlined word «primarily» is closed in meaning to .......ccccceeeee .
1) terribly 2) lastly 3) mainly 4) hardly

According to the National Academy of Sciences, the Earth's surface temperature has risen by about
1 degree Fahrenheit in the past century, with increased warming during the past two decades. There is
new and stronger evidence that most of the warming over the last 50 years is because of human
activities.
Human activities have changed the chemical composition of the atmosphere by build up of greenhouse
gases-primarily carbon dioxide, methane, and nitrous oxide. The heat - trapping property of these
gases is uninevitable although doubts exist about exactly how earth's climate responds to them.

I don’t agree with laws concerning ages of drinking, driving, and marriage in the United States.
These laws about young people’s freedom don’t make sense and are too inconsistent. They really vary
from place. I think many should be changed.

In 1984 the United states government passed a law that set the legal age for drinking at 21. I don’t
agree with this. I consider a person to be an adult at 18. I think 18 should be the legal age.

The legal voting age used to be 21 but now it is 18, and I hope it will gradually move even lower.
Young people shouldn’t be prohibited from choosing their leaders. I think anyone who wants to vote
should be allowed to.

The legal ages for driving doesn’t make sense, because it is different from place to place. In many
states the driving age is 16, in others 15, while in Hawaii it is 18. I can’t understand the reason for
these variations.

The legal age of marriage is 18, except for Nebraska where it is 19 and Mississippi where it is 21. In
Iran the age for men is 15 and women 13, while in Senegal it is 20 for men and 16 for women. I don’t
understand why it is necessary to set an age at all.

Finally, I think young people should work together to address this situation. Write to your leaders in
the government and let them know how you feel!

21. The passage can be mainly about .................. .
1) how young people can lower the legal ages
2) The ages on which various activities are allowed by law
3) why many legal ages don’t make sense and should be changed
4) how different United states laws are from those of other countries
22. The writer of the passage thinks that the legal age for drinking should be 18 because ..................
1) at 21, people are too old to drink
2) it will move even lower in the future
3) the United states passed a law in 1984
4) at that age a person is considered to be an adult
23. For whom is the legal age of marriage the youngest ?
1) men in Mississippi ~ 2) women in Iran 3) women in Nebraska 4) women is Senegal
24. According to the passage we learn that ..................
1) legal ages are sometimes changed 2) the reasons for legal ages are easy understand
3) most countries have the same legal ages 4) leaders never listen to young people
25. The world “prohibited” in the third paragraph is closest in meaning to ........ccccce...
1) broken 2) forbidden 3) provided 4) completed
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